MRBERNE (7H—HRILE)

1. #iE= XNEXYLEHNI=vY F

2. %= PUZ-HRP80-112 - 140HA12

3. HEExT (K158
(1#[/EE GBEHES)
(2)7vh—RIL b+

) 2%~
@Y 4 X - Fik

@1 ALY OBMERE (FFRICK S EEE)
@OBBEREEZAIBEDSIRY E2ZTEHAIOT > H—RIL DA
(BEHE&LYBBELETOES
()BT HAAMNSAIzRIL F RV
(5) BT ZHANDAH=RIL bFLASHBELETOERE

4. BREHE (BEO/NMMAUT2MEBZEEREALTEL)
(1) EEAKEEE
(2)EtANEERE
(3)EEtAXKTHED
(4)BEtHSEHE S
(58)7vHhH—HIL bDEIIRA Rb=
(6)7rh—RIL FDBAKS
(7T oh—RILNETBENE

Fh-Hg-(W-9.8-Fv)-Lg
L-Nt

@BIEREHE

QEAMIEHE
QBIERELAMERFICRZITHHE

=1L, fts' =ftm & Efts=fts', fts' >ftD & Efts=FtTHZDT

o= 8.0 |MPa
(8)7vh—IL FDIETE
D7 vh—RIL ORI E
@avy)—trOES
@RI FDEARSE
@FBSIREE

W= 116 ke

N4 K

=M 10 [}

A= 78 Jmm’= |78 x10°m’
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Hg= 500 mm= m

L= 370 mm= | 0.370 |m

Le=| 185  mm(Lg<L/2)= |0.185 Im
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Fh=Kh-W-9.8= 11368 N
Fv=Kv-W-9.8=| 5684 N

= 626.0 N

Q=Fh/N= 284.2 N
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0=Rb/A=| 80  |MPa  <ft=176MPa
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fts=14ft-167=| 2412  |MPa
fts= 176 MPa
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=70 mm= [ 0070 m

Ta= 3200 | N > Rb=| 626 N
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Hg= 500 mm
Leg= 185 mm
X= 590 mm
L= 370 mm
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